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2. Find the equation of the straight line 3x2 - 2xy + xy? = 2 at the point {1,1).
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4, Find the area of the region bounded by y = x® and y = 4x. [Hint: sketch the region.]
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4 5. Sketch the graph of f(x) = x* + 12x%, Choose ranges to display a complete graph.
7 Find exactly (if any):
a. x-y coordinates of relative maxima and minina.
x-y coordinates of points of inflection. éf
intervals on which the funciicn is increasing, decreasing.
‘intervals on which the graph is concave up, concave down.
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6. The acceleration due to gravity on planet X is 5.8 m/sec/sec (downwards). If an
object is tossed upward from 10 m above the surface with a velocity of 28 m/sec:
a. Find formulas for velocity and height after t seconds. , .

b. What is velocity when the object hits the surface? e duos lewd
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7. A solid is formed by revelving about the y-axis the region bounded by y = 2x, x = 1,

e
' and the x-axis. What is the volume? ’ .
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\ 8. There is 100 pounds of a radioactive byproduct from a factory. It decays at a rate

proportional to the amount of radioactive material present, hence y = 100ekt
where t is time in ygears. The half life is 500 years (haif will remain after 500

years.)
a. Show that k = —L—1In (L)
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b.  When will the radioactive material be 10% of the original amount? {f
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9. A 10,000 pound anchor is at the end of 75 feet of iron chain, which weighs 50
pounds per foot. The anchor is raised by winding the chain on a winch on deck.
a. How much work is done in raising just the anchor?

b. How much work is done in raising the anchor and chain?
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10. Integrate the folowing:
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11. Compute the derivative of f(x) = v x

a. Using formulas:

b. Using oniy the definition:
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using antiderivatives and the Fundamental Theorem (i.e. the easy way)
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